
 

 

【英語(解答)】 

 

第１問 
 問１ [1]④ [2]⑤ [3]⑤ [4]④ [5]③ 
 問２ [1]③ [2]② [3]⑤ [4]④ 
 問３ ③ 
 問４ ⑤ 
 問５ [1]② [2]① [3]① [4]② [5]② 

 
第２問 
 問１ [1]① [2]② [3]② [4]①   
 問２ [1]③ [2]③ [3]④  [4]③ [5]④ [6]② 
 問３ ③ 
 問４ [1]② [2]④ [3]④  [4]① [5]② 

 
第３問 
 問１① 問２② 問３④ 問４② 問５③ 

 
第４問 
 問１④→still more 問２④→ended up 問３⑤ 問４③→than that of most 問５③→down 

 
第５問 
 問１②-④  (...have risen by no less than 70% ...) 
 問２⑤-④  (...the traditional calculation that makes you one year old at...) 
 問３②-①  (...is composed of many small sub-units...referred to as families) 
 問４⑦-⑨  (...of words that create a language…grammar is what provides structure to… ) 
 問５④-⑤  (... prospective parents feel that they are not emotionally equipped for the responsibility of 

raising a child, nor are ...) 
 
≪講評≫ 
昨年と同様の問題量、形式、難易度であったが、基本的な問題が多く、合格点は高いと思われる。読解問題

での正答率が合否を分けることになろう。         
YMS 英語科 


